
Spareparts_F100 ECO_900290-P00 1av1

Jøtul F 100 ECO
Jøtul F 100 ECO LL BP, cat. no. 30054475, Jøtul F 100 ECO LL SE BP, cat. no. 30054477
Jøtul F 100 ECO LL SE BBE, cat. no. 30054896, Jøtul F 100 ECO LL SE IVE, cat. no. 30054897 (LL=Long Legs 215mm, SE=Special Edidtion= Door without arches )
Jøtul F 100 ECO SL BP, cat. no. 30054476, Jøtul F 100 ECO SL SE BP, cat. no. 30054478 (SL=Short Legs 155mm, SE=Special Edidtion= Door without arches ) 
BP= Sort lakk/Black Paint, BBE= Blåsort Emalje/Blue Black Enamel, IVE= Edelhvit Emalje/ Ivory enamel UP= Ulakkert/Unpainted

Quantity
Pos. 
no. Spareparts Consist of pos.no: Benevnelse Description Dim./Spec.

1 1 12018369 Sideplate venstre BP Side plate left  BP Cast iron min. 4mm thickness
1 1 12018367 Sideplate venstre BBE Side plate left  BBE Cast iron min. 4mm thickness
1 1 12030896 Sideplate venstre IVE Side plate left  IVE Cast iron min. 4mm thickness
1 2 Vermikulitt brennplate venstre Vermiculite burn plate left Vermiculite 600Kg/m³
1 3 12054617 Fyrbunn bakre UP Inner bottom, rear UP Cast iron min. 4mm thickness 
1 4 12054616 Fyrrist BP Fire grate BP Cast iron min. 4mm thickness 
1 5 12018340 Ventil opptenning UP Valve ignition  UP Cast iron min. 4mm thickness 
1 6 12015042 Ben 215mm BP (for LL versjoner) Leg 215mm BP (For LL versions) Cast iron min. 4mm thickness 
1 6 12015034 Ben 215mm BBE (for LL versjoner) Leg 215mm BBE (For LL versions) Cast iron min. 4mm thickness 
1 6 12015035 Ben 215mm IVE (for LL versjoner) Leg 215mm IVE (For LL versions) Cast iron min. 4mm thickness 
4 6 51012223 Ben 215mm (4 stk) BP (for LL versjoner) Leg 215mm (4 pcs) BP (For LL versions) Cast iron min. 4mm thickness 
4 6 51012224 Ben 215mm (4 stk) BBE (for LL versjoner) Leg 215mm (4 pcs) BBE (For LL versions) Cast iron min. 4mm thickness 
4 6 51012227 Ben 215mm (4 stk) IVE (for LL versjoner) Leg 215mm (4 pcs) IVE (For LL versions) Cast iron min. 4mm thickness 
1 7 10024640 Skjermplate under Heat shield under Steel
1 8 10024642 Askeskuff Ash pan Steel
1 9 12054623 Bunnplate BP Bottom plate BP Cast iron min. 4mm thickness 
1 9 12054966 Bunnplate BBE Bottom plate BBE Cast iron min. 4mm thickness 
1 9 12054967 Bunnplate IVE Bottom plate IVE Cast iron min. 4mm thickness 
1 10 10024638 Ventilstang Handle Ø6mm steel
1 11 12021379 Askeleppe BP Ash lip BP Cast iron min. 4mm thickness 
1 11 12021380 Askeleppe BBE Ash lip BBE Cast iron min. 4mm thickness 
1 11 12021428 Askeleppe IVE Ash lip IVE Cast iron min. 4mm thickness 
1 12 12018374 Frontplate BP Front plate BP Cast iron min. 4mm thickness 
3 13 12020930 Glassklips Glass clip Steel & glass fibre gasket
1 14 10024515 Stengejern Latch bolt Steel
1 15 10023578 Skive M10 svart, spesial Washer M10 Black, Special Ø10,5xØ25x1,5 Steel
1 16 10023475 Mutter sekskant M6 DIN 934                  Nut Hexagon M6 DIN 934             St8.8 / ANSI B18.2 
1 17 10024011 Fjær for klinke Spring For Latch Spring Steel
1 18 12017311 Vrider (Klinke) svart lakkert Latch, black painted Cast iron min. 4mm thickness 
1 18 12020110 Vrider (Klinke) forniklet Latch, nickel-plated Cast iron min. 4mm thickness 
1 19 10023464 Skive Washer Ø6,4xØ12,5x1,6, St8,8, DIN 125, Steel
1 20 10023919 Skive spesial Washer special Ø23xØ8,2x2 insulating mat.
1 21 10024025 Treknott Wooden knob Hardved\hard wood
1 22 10024023 Hylse Sleeve Ø8xØ6xL27,5mm, Steel
1 23 10023611 Skrue, maskin panhode pozidrive Screw, machine pan head pozidrive M6x40, DIN 7985, Steel
1 24 10023684 Skrue M6X25 lang tapp Screw M6x25 Long Dog Point Set Steel

1 25 12021599 13,14,15,16,17,18,19,20,21,22,23,24,26,50,51,52,66
Dør komplett - u/glass SE 
(Dør uten spiler BP)

Door , complete excl/glass SE
(Door without arches BP) BP

1 25 12054959 13,14,15,16,17,18,19,20,21,22,23,24,26,50,51,52,66
Dør komplett - u/glass SE 
(Dør uten spiler BBE)

Door , complete excl/glass SE
(Door without arches BBE) BBE

1 25 12054962 13,14,15,16,17,18,19,20,21,22,23,24,26,50,51,52,66
Dør komplett - u/glass SE 
(Dør uten spiler IVE)

Door , complete excl/glass SE
(Door without arches IVE) IVE

26 Dør uten spiler SE BP Door without arches SE BP
1 26 Dør uten spiler SE BBE Door without arches SE BBE BBE
1 26 Dør uten spiler SE IVE Door without arches SE IVE IVE

1 27 12021376 13,14,15,16,17,18,19,20,21,22,23,24,28,50,51,52,66
Dør komplett - u/glass 
(Dør med spiler BP)

Door , complete excl/glass
(Door with arches BP) BP

1 28 Dør med spiler  BP Door without arches BP
1 29 10024654 Glass Glass 379x270x4mm, keramisk\ceramic
2 30 10024103 Hengseldubb, sortkromatisert Hinge pin, black chromated Ø6x33mm, Steel
2 30 10023975 Hengseldubb, forniklet Hinge pin, nickel plated Ø6x33mm
1 31 10054451 2,32 Brennplater sett V+H Burn plates kit L+R Vermiculite 600Kg/m³
1 32 Vermikulitt brennplate høyre Vermiculite burn plate right Vermiculite 600Kg/m³
1 33 12018364 Sideplate høyre BP Side plate right  BP Cast iron min. 4mm thickness
1 33 12018362 Sideplate høyre BBE Side plate right  BBE Cast iron min. 4mm thickness
1 33 12030893 Sideplate høyre IVE Side plate right  IVE Cast iron min. 4mm thickness

34 10024413 Hylse Sleeve Ø10xØ6,2xL10mm, Steel
1 35 12054620 Luftbrem BP Air deflector BP Cast iron min. 4mm thickness

36 12018338 Ventilplate UP Valve plate UP Cast iron min. 4mm thickness 
37 12017438 Ventilsleide BP Valve BP Cast iron min. 4mm thickness 

1 38 10054452 Luftbegrenser Air restrictor Steel
1 39 12021582 39,44,55,61(2pcs) Topplate komplett BP Top plate complete BP Cast iron min. 4mm thickness 
1 39 12021583 39,44,55,61(2pcs) Topplate komplett BP Top plate complete BP Cast iron min. 4mm thickness 
1 39 12033806 39,44,55,61(2pcs) Topplate komplett BP Top plate complete BP Cast iron min. 4mm thickness 
1 40 12018816 Røykstuss innvendig Ø125 BP Smoke outlet, dripless Ø125 BP Cast iron min. 4mm thickness 
1 40 12018813 Røykstuss innvendig Ø125 BBE Smoke outlet, dripless Ø125 BBE Cast iron min. 4mm thickness 
1 40 12049995 Røykstuss innvendig Ø125 IVE Smoke outlet, dripless Ø125 IVE Cast iron min. 4mm thickness 
1 41 12054621 Ledeplate UP Exhaust deflector UP Cast iron min. 4mm thickness 
1 42 12018331 Hvelv UP Baffle UP Cast iron min. 4mm thickness 
1 43 12031154 Bakplate BP Rear plate BP Cast iron min. 4mm thickness 
1 44 12018811 Røykhullsdeksel BP Smoke outlet cover BP Cast iron min. 4mm thickness 
1 44 12018807 Røykhullsdeksel BBE Smoke outlet cover BBE Cast iron min. 4mm thickness 
1 44 12018808 Røykhullsdeksel IVE Smoke outlet cover IVE Cast iron min. 4mm thickness 
2 45 12018394 Deksel sekundærluft UP Cover for air manifold UP Cast iron min. 4mm thickness 
1 46 10024639 Skjermplate bak, svart Heat shield rear, black Steel
1 46 10050009 Skjermplate bak, ubeh alu zn Heat shield rear, untreated alu zn 0,9mm Alu zn belagt stål\coated steel
4 47 12015095 Ben 155mm BP (for SL versjoner) Leg 155mm BP (For SL versions) Cast iron min. 4mm thickness 
4 47 12015093 Ben 155mm BBE (for SL versjoner) Leg 155mm BBE (For SL versions) Cast iron min. 4mm thickness 
4 47 12028848 Ben 155mm IVE (for SL versjoner) Leg 155mm IVE (For SL versions) Cast iron min. 4mm thickness 
1 47 51012177 Ben 155mm (4 stk) BP  (for SL versjoner) Leg 155mm (4 pcs) BP (For SL versions) Cast iron min. 4mm thickness 
1 47 51012178 Ben 155mm (4 stk) BBE  (for SL versjoner) Leg 155mm (4 pcs) BBE (For SL versions) Cast iron min. 4mm thickness 
1 47 51012179 Ben 155mm (4 stk) IVE  (for SL versjoner) Leg 155mm (4 pcs) IVE (For SL versions) Cast iron min. 4mm thickness 
1 48 10026011 Løst håndtak flatt Loose handle flat 2mm steel

4 49 50027204 (5m) Pakning (til bakplate) Gasket (for rear plate)
V-125x30 mm graph W/A
(4pcs)

2 50 50027204 (5m) Pakning under glass Gasket under glass 
V-125x15 mm graph W/A
(2pcs)

1 51 50027205 (5m) Pakning til glass Gasket for glass LD-250-2 graph Ø6,4x1300mm
1 52 50027203 (5m) Pakning mellom dør og front Gasket Between door and front LD 375-2 Ø9,5x1620mm
1 53 50027205 (5m) Pakning  underside av ventilplate Gasket for valve plate LD-250-2 graph Ø6,4x835mm
1 54 50027201 (5m) Pakning  mellom røykstuss og røykrør Gasket between smoke outlet and flue LD-187 graph Ø4,8x500mm
1 55 50027203 (5m) Pakning for topp-plate Gasket for top plate LD 375-2 Ø9,5x1620mm

2 56 50027205 (5m)
Pakning mellom bakplate og 
deksel sekundærluft

Gasket between rear plate and
cover for air manifold

LD-250-2 graph Ø6,4x750mm
(2pcs)

3 57 10023780 Skive M6 Ø6,4xØ18x1.6  DIN 9021     Washer M6 Ø6.4xØ18x1.6 DIN 9021     St8.8 / ANSI B18.2 
4 58 10023559 Skive M8 Ø8,4xØ20x1.5 DIN 522   Washer M8 Ø8.4xØ20x1.5 DIN 522     St8.8 / ANSI B18.2
1 59 10024339 Skive Ø6.2x12x1.8 Messing Washer Ø6.2x12x1.8 Brass Brass
1 60 10023576 Skrue Gjengestift med Hul ende M6x25 DIN 916               Screw Socket Set with Cup point  M6x25 S DIN 916       Steel, black
6 61 10023545 Skrue sekskant med flens M6x12 DIN 6921 Screw Hex Cap Flange M6x12 DIN 6921 St8.8 / ANSI B18.2 

15 62 10023541 Skrue sekskant med flens M6x16 DIN 6921 Screw Hex Cap Flange M6x16 DIN 6921 St8.8 / ANSI B18.2 
2 63 10023540 Skrue sekskant med flens M6x20 DIN 6921 Screw Hex Cap Flange M6x20 DIN 6921 St8.8 / ANSI B18.2 
4 64 10023536 Skrue sekskant med flens M6x25 DIN 6921 Screw Hex Cap Flange M6x25 DIN 6921 St8.8 / ANSI B18.2 
3 65 10023574 Skrue sekskant med flens M6x40 DIN 6921 Screw Hex Cap Flange M6x40 DIN 6921 St8.8 / ANSI B18.2 
3 66 10023561 Skrue sylinderh. innv. sekskant lavh. M6x8 DIN 7984 Screw cylinder head int.hex. low head M6x16 DIN 7984 St8.8 / ANSI B18.2 ,black
2 67 10048871 Skrue sekskant M6x16 selvgjengende DIN 7500D Screw hex cap M6x16 selfthread DIN 7500D Steel, ELZn
3 68 10023666 Mutter sekskant med flens M6 DIN 6923 Nut Hexagon Cap Flange M6  DIN 6923 St8.8 / ANSI B18.2
3 69 10023998 Hylse Sleeve Ø10xØ6,2xL15mm, Steel
1

Smoke Outlet For UK, Ø125mm  dripless
1 70 51012033 70,61(2pcs),62(2pcs) Røykstuss innvendig Ø125 BP (for UK) Smoke outlet, dripless Ø125 BP (for UK) Cast iron min. 4mm thickness 
1 70 51012034 70,61(2pcs),62(2pcs) Røykstuss innvendig Ø125 BBE (for UK) Smoke outlet, dripless Ø125 BBE (for UK) Cast iron min. 4mm thickness 

Smoke Outlet, Ø150mm   dripless
1 71 12021463 Røykstuss innvendig Ø150 BP Smoke outlet, dripless Ø150 BP Cast iron min. 4mm thickness 

Smoke Outlet, Ø125mm non dripless
1 72 12018329 Røykstussutvendig Ø125 BP Smoke Outlet,  Ø125mm non dripless BP Cast iron min. 4mm thickness 
1 72 12018328 Røykstussutvendig Ø125 BBE Smoke Outlet,  Ø125mm non dripless BBE Cast iron min. 4mm thickness 

Heatshield Rear , extra complete
1 73 50012956 Skjermplate bak, ekstra komplett BP Heatshield Rear , extra complete BP Steel

Floor Plates Cast Iron for Norway

74 51012191 75, 76 Gulvplater støpejern Norge BBE Floor Plates Cast Iron Norway BBE
Cast iron min. 4mm thickness
width 630, depth 766, height 17

75 Gulvplate under støpejern BBE Floor Plate Under Cast Iron BBE
Cast iron min. 4mm thickness
width 630, depth 467, height 17

76 Gulvplate foran støpejern BBE Floor Plate Front Cast Iron BBE
Cast iron min. 4mm thickness
width 630, depth 317, height 17

1 77 12021378 16,19,20,21,22,23,60,54 Treknott og smådeler Wooden knob and small parts

1 77 12021450 14,15,16,17,18,19,20,21,22,23,24 Vrider kompl (frontdør) Sort Latch compl (front door) Black
1 77 12021451 14,15,16,17,18,19,20,21,22,23,24 Vrider kompl (frontdør) Forniklet Latch compl (front door) Nickel crom

Draw. no. 900290-P00


